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Connor Thompson  10:30 am in PHYS 110 0208 Saikiran Polishetty ~ 9:30 am in HAMP 2101 0287
Connor Thompson  11:30 am in PHYS 110 0215 Saikiran Polishetty ~ 7:30 am in HAMP 2101 0288
Connor Thompson  12:30 pm in PHYS 110 0222 Saikiran Polishetty ~ 8:30 am in HAMP 2102 0289
Nikhil Mehra 4:30 pm in PHYS 202 0229 Stian Clem 8:30 am in PHYS 333 0290
Nikhil Mehra 3:30 pm in PHYS 202 0236 Stian Clem 7:30 am in PHYS 333 0291
Nikhil Mehra 2:30 pm in PHYS 202 0243 Stian Clem 9:30 am in PHYS 333 0292
Sarah Anderson 10:30 am in PHYS 202 0250 Abishek Srinivasan  3:30 pm in PHYS 333 0293
Sarah Anderson 9:30 am in PHYS 202 0257 Abishek Srinivasan  4:30 pm in PHYS 333 0294
Sarah Anderson 11:30 am in PHYS 202 0264 Abishek Srinivasan  2:30 pm in PHYS 333 0295
Rishab Pandian 2:30 pm in PHYS 110 0271 Rashmi Bhaskara 9:30 am in PHYS 110 0296
Rishab Pandian 1:30pm in PHYS 110 0278 Rashmi Bhaskara 7:30 am in PHYS 110 0297
Rishab Pandian 3:30 pm in PHYS 110 0285 Rashmi Bhaskara 8:30 am in PHYS 110 0298
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7. If the work required to stretch a spring 3 ft beyond natural length
is 36 ft-Ib, how much work is needed to stretch it 3 inches beyond
natural length ?

b
A.gft—lb w = f k)f-— OQL

B. 54 ft-Ib @
1
C. 36 ft-Ib 2
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E. 4 ft-1b . 3
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8. A cylindrical tank containing a liquid of density 10 1b/ft* has a radius of 2 ft. Its side is 5 ft.
high and the depth of the liquid is 4 ft. How much work is required (in ft.-lbs.) to pump all
the liquid out over the top of the tank?
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. Choose the right formula to compute the volume of the solid obtained 1[ "L /(3 [
from rotating the region bounded by y = #*, 2 = 2 and y = 0 about 2 = 3 [,./ > Y-Q’ I
: ¢
using

(1) Washer method,

(ii) Shell method.
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9. The base of a solid is the tegion bounded by the parabolas ¥ = 2% and
y=2- 72
Find the volume of the solid if the cross-sections perpendicular to the base
and parallel to the v-axis are equilateral triangles with one side lying along
the hase.

HINT: The arca of an equilateral triangle with base length B s pive by

the formula — 1=, 2
: 43
WARNING: The region above lies not only over the 1st quadrant bug m = @

also over the 2nd quadrant. (7(
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5. Find the angle 6 between the following two tangent lines:
one is to the curve y = 3z% at point (1, 3) and

the other to the curve y = 3z at point (1,3).




